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SECTION - A

(a) ‘Financial Management is concerned with solution of three major decisions
a firm must make.” What are these three decisions and how are they
interrelated ? (10)

(b) A company is selling a debenture which will provide annual interest payment
of Rs. 1200 for indefinite number of years. Should the debenture be purchased
if it is being quoted in the market for Rs. 10,500 and the required rate of
return is 12% ? (5)
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(¢) Explain ‘Profit maximisation’ and ‘Wealth maximisation’ goals. Which is

superior in your opinion for financial decision making ? (10)

(d) “A rupee of today is not equal to the rupee of tomorrow.” Explain.  (5)
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SECTION - B

A company is considering to purchase a machine. Two machines X and Y
are available each costing Rs. 1,00,000. Earnings after tax are expected to
be as follows :

Year Machine X Machine Y
1 30,000 10,000
2 40,000 34,000
3 50,000 40,000
4 30,000 60,000
5 20,000 40,000

You are required to indicate which of the machines would be profitable using
the following methods of ranking investment proposals (Straight line method
of Depreciation is to be used). '

(i) ARR method (T'A)
(i) Payback Period method (7%4)
OR

What do you mean by Capital Budgeting Decisions ? Explain any two
techniques of Capital Budgeting. (15)
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ag I X IR Y
| 30,000 10,000
2 40,000 30,000
3 50,000 40,000
4 30,000 60,000
5 20,000 40,000
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3. (a) A firm has sales of Rs. 15,00,000 variable cost Rs.l8,40,000 and fixed cost
of Rs. 1,20,000. It has a debt of Rs. 9,00,000 at 9% and equity of Rs. 11,00,000.

(i) What is the firm’s ROI (Return on Investment) ? (5)
(i) What are the operating and financial leverage of the firm ? (5
(iii) If the sales drop to Rs. 9,00,000, what will be the new EBIT?
Verify. (5)

OR
(b) What do you mean by Capital Structure ? Explain the difference between
Net Income Approach and Net Operating Income Approach. (15)
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SECTION - C
(a) What do you mean by Dividend Policy ? Explain the factors which influence
the dividend policy of a firm. (15)
OR

(b) The earning per share of the face value of Rs. 100 of PQR Ltd. is Rs. 20.
It has a rate of return on investment of 25%. Capitalisation rate of its risk
class 1s 12.5%. If Walter’s model is used.

(1) What would be the optimum payout ratio ?
(i) What should be the market price per share if the payout ratio is
zero ? (10)

(¢) Explain Gordon’s Model of Dividend. What are its assumptions ? (5)
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(a) Define Working Capital. Describe in brief the various factors which are.
taken into account in determining the working capital needs of a firm.

(15)
OR
(b) Write short note on :
(i) ABC system of inventory management (7'4)
(i) Management of cash inflows and outflows (72)
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